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Find the DC conversion ratio of the boost converter operated in DCM in terms of

switching period (Ts), input inductance (L), output resistance (R) and duty cycle (D). 25%)

Calculate the rms current value of the following waveform. 25%)
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The parameters of the flyback converter are shown in Table 1. Please find answers of the

blank space as shown in Table 2. (25%)

Table 1
Vin,max 390V
Vin,min 260V
Vo 15V
Pload, max 200W
Pioad, min 50W
Switching frequency 100kHz
AVo,max 0.1V
Turns ratio (ny/n;) 0.125
Air(peak to peak) 3A referred to the secondary




Table 2
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Switch stress voltage

Switch stress current

Diode stress voltage

Diode stress current

4. Find the average value of the input current for the buck converter at boundary between
continuous and discontinuous conduction in terms of switching frequency (fs), output
inductance (L), duty cycle (D) and output voltage (Vo). (25%)
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